)

=

%} 10
2
S
=
Q_I—
©

2

S 10

10

1

2
0
O
T
-l

e 1
2
T
i

0.5

Rivet 3.1.10, = 2.3M events

7000 GeV pp Soft QCD
_| [ [ [ [ [ [ [ [ [ |_
B pT(ACh) _
- m  LHCB -
— --8-- Pythia 6.428 391 7
— - <- Pythia 6.428 393 .
— - ®-- Pythia 6.428 394 7

--¥-- Pythia 6.428 395
— = E
~ - N
- B 7
B \':‘_:..~' [ | —
\:&\; ]
TN
= \i\\-'&;.\ u E
u g = ]
: 75'5?: - u :
N B B S
:l } t i | 1 1 1 [ 1 1 1 |:
B o ///$ -
1 P
| 1 1 1 | - @;/ 1 1 | T 1 1 |
2 4 6 8

P, [GeV!/Ic]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


